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3 (Sem-5) HIS 1

2019

HISTORY
( General )

Paper : 5.1
[ History of India (1757-1857) ]

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer in 1 word or I sentence : 1x10=10
51 == A1 b I T i
(@) Who was Siraj ud-Daulah?
foqre-Sv-(nen (1 e ?
(b) When was the Battle of Buxar fought?
TR Ta (oAl A0S e 2

() In which year was the Regulating Act
passed?

e B R 5o 2R 9 (R ?

(d) What is Dastak?
Lici A

20A/139 ( Turn Over )



(2) | (3)

() When was the Third Anglo-Mysore War (d) Name a State annexed by Lord Dalhousie

fought? ‘ on the ground of mal-administration.
POl i S EC Ta cfenr sigafbe e 2 ' Who was its ruler at that time?
() When was the Treaty of Salbai signed? APTRRER  RIGRR IR 6 (TEmehd
e S fo TreRe (2R ? SR T 99 I AW 1 R TS
TR S wfes 2
(g Who was Ranjit Singh? P !
Iere B = wIfee 2 L (e) Write the name of two leaders of the
% Mutiny of 1857.
(h) Who were Muhammad Reza Khan and |
Sitab Ray? ‘ Streq 5] RTaRI & (Tor 7 for |
T ] A S OO I (P IR 2
; ‘ . Write short notes on (any four : 5x4=20
(i) What was the immediate cause of the 3. Write s y
Revolt of 1857? | 59 G ot (R e 1) -
srea 59 R seFam IR B wifee 2 | @ Mir Qasim
() Who intro%;.l:ed.‘Doctrine of Lapse’? e Tl
"zﬂaz?iﬂ ? I dqed '@ﬁ@ﬁl ? 1
L i (b) Dual Government System of Bengal
2. Answer the following in brief : 2x5=10 L TR 7S *PHITE
? v B e 5 (c) Rohilla War
(a) Write two important results of the Battle | Qe I=
of Plassey. 7 .
(d) Tipu Sultan
T T o1 gy T ford | ,. oo prem
(b) Write two features of the Pitt’s India Act. ; (e) First Anglo-Maratha War
P51 S P e 1 G S | 1o TR T
(c) Me.ntion two features of ‘Subsidiary ) () Lord Dalhousie
Alliance’ of Lord Wellesley. ; - A
6 SEEHAR T (Fal NS YOI 3y ‘
TCE 91 i
20A/139 (Continued) . 20A/139 ~ (TumOver)




(4)

4. Answer any four of the following : 10x4=40

werS TRATAI 1 I Bifer s o

(a) Give a critical analysis of the Battle of
Plassey.
WO F@I F AT ReRd
HISICOHET |

(b) Critically discuss the Permanent
Settlement Introduced by Lord Cornwallis.

6 FRIPI o437 9 ol e 9

AT ST |

() Discuss about Warren Hastings’ judicial
reforms.
A @Ry Rom Refim ez
HICEe- 901

(d) Give an estimate of Hyder Ali as an
empire builder.

S el Rt IXR WP 99 PR
9 :

(e) Make an estimate of social reforms of
Lord William Bentinck.

T TR @GR THRE I
TR e SNsee |

() Discuss about the causes and
consequences of the Mutiny of 1857.
Sred R R IRV AP FTAFPHR
HCEA™AT 11|
* k k
20A—12500/139 3 (Sem-5) HIS 1
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2019

HISTORY
( General )

Paper : 5.2
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer all questions
Answer from either Option—A or Option—B

Answer either in English or in Assamese

OPTION—A
[ History of Europe (1453-1815) ]

1. Answer the following questions in one word or
- one sentence : - 1x10=10

SR PR TE bl T @B TS e

(a) What is the ineaning of Renaissance?
@R 7 9 2
20A/140 ( Turn Over )



(3)

(2)
® Wh " - (h) When was the Battle of Waterloo fought?
0o was e author of the book,
The Prince? | Mo T o Rafos 2R ?
‘i % (The Prince) J@d TRw @@
w1fRet 2 () Name the island where Napoleon
1 breathed his last.
(c) In which year was the Peace of Augsburg ﬂ et e oo 1 QAR A
signed?
e 13 o I TS FreRS fRE 2 () Who was Metternich?
GORFS @M e 2
(d Who translated the Bible into German
language?
W’ A A wm‘m SEILA  SRM
R 2 2. Answer the following questions in brief : 2x5=10
o PP oY e o -

(@) Mention two geographical discoveries of
the time of Renaissance in Europe.
VAR @A TR [ S SRR
TrEy 0

(e} The Fall of Bastille took place in which
~ Yyear?

T BT R sfq o CfRet 7

() What was a ‘cahier’? ‘ »
‘IR’ A 2 . (b) Who were the creators of the two famous
paintings, ‘Monalisa’ and ‘Madonna’?

(9) Who were the Jacobins? | Rare foa, SRR’ wF ‘oMY T8 IR
@ wIfee ?

& Reee @ wifRe 2
20A/140 ( Continued )
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(4) (5)

) Name two reformers after Martin Luther (d) Counter Reformation

in the Reform movement. - ,
AR BCHES oA A /TS R ’
o W:{Wﬁm | (e} Reign of Terror
PR A2
(d) What were the Tithe’ and ‘Gabelle’ tax of () Treaty of Tilsit ’
France? e

TR Ry’ % 0o IR ey 2

4. Answer any four of the following questions :

() Mention two causes of the fall of 10x4=40
Napoleon Bonaparte. o TR R A BT e o :
. monﬂa T S (a) Discuss the features of the Renaissance
) T o in Europe.
3. Write short notes on any four of the FERIR (TR CAREIR S 41 |
followmg 5x4=20
=/ w o - (b) What was the Reformation movemenf?
(a) Fall of Constantmople ‘ llle:::;se nzviartm Luther’s role in this
FABGTT ofA WW@W&H?@WW
(b) Peace of Westphalia IPRIR e 3 onfeen 2 '
(c) What were the causes of Thirty Years
(c) John Calvin War?
o Fefo fore IR Ja FRIER R wfeE 2

20A/140 . ( Continued ) 20A/140 ( Turn Over )




(6)

(d) Discuss the political and intellectual

(e)

20A/140

factors of the French Revolution.

R R IEEART 9F @fRF IRIQR
S 4 |

Discuss the reforms of Napoleon
Bonaparte.

AT AIHIGY IR SAICTOA] 7 |

What is Continental system? How far was
it responsible for the downfall of Napoleon

Bonaparte?

R S B @APET @AY feas

A X R wofRian =nfe 2

( Continued )

PR e e e

(7)

OPTION—B
[ History of Europe (1815-1945) ]

5. Answer the following questions in one word or
one sentence : ) 1x10=10

©oR PTRY TeT bl X1 1 9ol IS

(a) Who became the Monarch of France
following the Revolution of 1830?

Moo 599 R FIee F1e I/ @ 3R ?

(b) In which year did Louis-Philippe abdicate
the throne of France?

R-Rcfecy TR B @ fom o FRfRe 2

(c) Who organized ‘Young Italy™
WA e 1o IR 2

(d) Who was the author of Das Kapital?
o PG (Das Kapital) J%49 o1
A ifRe 2

() Who was the first President of Weimar

Republic?
‘@R R’ AR RS @ =T ?

(7 Mention the name of the Austrian Prince
who was assassinated in Sarajevo

in 1914, .

3538 S DREECE® o A IR

PRI W ol | '
20A/140 ( Turn Over )




(9)

"

(i)

(&) i (9)

Who were the ‘blackshirts’? | (d) Mention two causes of the World War I.
AR IR AT ‘ ster Rt 01 ¥ S T
~When was Locarno Pact signed? fe) Who were the Bolsheviks’ and
el o cFfem el RE? ‘Mensheviks’
Where is ‘Pearl ‘Harbor’ located? T E " RS T (e 2

i W’ 3G TAFS?

‘Who was the US: President at the time of 7. Write short notes on any four of the

0 , )
World War II? fOllozmg : o 5x4=20
8 Rwpm Shwe, wiReR IR @M v R oY B

! N (a) Causes of the Revolt of 1830
6. Answer the following questions in brief : Stroo T Redd IR
. 2x5=10 )
AT W 551’\’5@ ﬁm . (b) Munich Pact
. Refe

(a) What is ‘Holy Alliance’? : e
“Ife WA’ 3 %9 | () Metternich

(b) Mention two objectives of the foreign GRS
policy of Bismarck. ‘ .

, | .
Remra e ST o1 Somen Teas 0 % (d) Nazism

(¢ In which year was the process of |
unification of Italy and Germany 11,
completed? | (e) Treaty of Versmues
@H @ 578 BN W Tiad 9@ e IR B
F=ojef e 2 , {

20A/140 , ( Continued ) | 20A/140 ( Tum Over )




(10 )

8. Answer any four of the following questions : |
10x4=40 |

@R 2P R e ot e for |

(@) What is ‘Concert of Europe’ How far was |

it successful in achieving its goals? |

M T AT A 7 P 77w Toe

@R[ cFge X R e (2fee 2 |

(b) Explain the causes of the Revolution
of 1848. |
So8b TiY ReRT FRRIR I 3¥47 |

(c) Discuss the phases of the unification of
- Germany.

TN 9P RSH R~ rcemman <41 |

(d) Trace the grounds of formation of ‘Triple
Alliance’ and ‘Triple Entente’.

‘Rl e’ oF o Sirere’ a9
BeR Rom w11

() What were the results of the Russian
Revolution of 1917?

y839 R ¥R Rere? vz R e 2

() Write a note on the achievements of the
League of Nations.

TR ForreR R «ft Gt forn |

20A/140

Continued )
( ) | 20A—7500/140

(11 )

(g) Analyze the background of the rise of
fascism in Italy.

ifte e Rerm el Rems 1

(h) What were the effects of the
World War II?

St Ry Fameera & wifder 2

* % %
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3 (Sem-5) TTM VOC 1

2019
TOURISM AND TRAVEL MANAGEMENT
( Vocational )
Paper : 5.1
( Tourism Management )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wor AT PcHRER Tas fa -

(a) The classical dance form of Assam is

( Fill in the blank )
2 PR MR O 6T Sl |
( <R o2 o[ )
() The __ prodﬁét is not the tangible
physical product. :
. ( Fill ini the blank )
_ Teomw, wopf IR IR RN T |
( = o2 o7 )
20A/157 ( Turn Over )




(2)

(c) Services like transport, accommodation
and food fall under products.

( Fill in the blank )
l, A qﬁﬁq’ W—’lﬁ!ﬂ G IR, Kl

TR |

(<19 5% o 01 )

(d) Tourism product is an intangible item
( Write True or False )
o5 BeAM BT PG T |

(7 & wrRem o )
() Sun Temple is a world heritage site

( Write True or False )
K P oo ey afegy &= 1

(@Fﬁﬂ%ﬁﬁm)

() Corbett National Park is situateq j
Assam. mn
( Write True or False )

FCIG IBR THIH SPITO SICE |

(g Qutb Minar is meter high.
( Fill in the blank )
- IR AR 5 eq 1

(<19 37 o w1 )

20A/157 ( Continued )

(3)

(h) Ecotourism is an alternative form of

tourism.
( Write True or False )

SR oo, “RBaR <1 st =1t |
(BT @ 9T o)

(i) The country’s first National Park is

( Fill in the blank )

™Y 2w 9B TE T )
( AR 512 T II)

() Water resources are part of a tourism

infrastructure.
( Write True or False )

ST SRR SIS = |
(wm @ oReT Tl )

2. Answer the following questions : 2x5=10

oY RIS ey
(a) Define hospitality.
ferefeiite wvet o

(b)) What is tourism product?
oRfBm Besimm e 6 2

20A/157 ( Turn Over )
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(4)

() What is alternative tourism?

Rew /o B2

(d) What is management?
I 2

() What are the elements of tourism
industry? -
RGBT Serraeerz 5 R o

3. Answer any four of the following questions :

5x4=20

e Al ereaee R o BiRGR T o

(a) Write the meaning and concept of
management.

IR Y o RS Rew B

(b) What are the functional units of
management?

IR IR S1pTR B 2

{c) Discuss the importance of planning in
tourism development.

ofor Sme @Fed AREEAPPR  SICAA]
I

L3

{ Continued )

(5)

(d What are the problems in human
relations in tourism?

ﬂ@ﬂ@m{@aﬂ@wﬁww%w@m
TR

(e} Discuss the role of ITDC in tourism
development.

onf5 TS ITDC- g SIeTol 34 |

(ﬂ. Discuss about the differer}t inter-
national organizations in tourism.

e TS STS SBAE  FREPTLA R
ST 0 |

following questions : '
4. Answer any four of the g 10x4=40

Wﬁmm«ﬁm.sﬁﬁﬁwmz

(@) Explain the important features of a
tourist organization.

meﬁhﬁ?ﬁ‘{i%ﬂu

(b)) What is the organization of ICAO?
ICAO 7= e forn |

(c) Describe the naturé of management in
detail.
TR ol eore eI Fefal T4 |

20A/157 ( Turn Over )
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(6)

(d) What are the types of management?
Describe it.

He
JRFINAIR ©19f (F2BT ? HICEOAT 7 |

(e) Describe the role of State Tourism
Development Corporation in the
development of tourism.

I o/ fow Reres 6 Smaws IRed B R_
SR Caick, It 91 |

(/ What are the functions of UNWTO?
Explain it.
UNWTO-3 e & & mm 411

(9) How does PATA work in the promotion
of tourism development?

PATA-3 *ixf57 Tmee FCiee ©&19 THiRR 2

(h) Assess the effects of globahzatmn on a
tourist destination.

ﬂ#ﬁamaﬁaemﬁwmﬁ?mm
CIETIRCR, “rfizaset 41 |

* % X

3 (Sem-5) TTM VOC 1

3 (Sem-5) PSY 1

2019

PSYCHOLOGY
( General )

Papef : 5.1
( Experimental Psychology )

. Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed :

v AR TR B it

(a) Height is a variable.
Twor @ft ___ TR
( Fill in the blank )
: (18 $i o )

(b) Name an optical illusion.
e B o |

20A/145

1x10=10

( Turn Over )



(@)

(d)

(e)

(<))

(h

20A/145

PN (2)

Who set
laboratory?

AYTIRT I CFA TEAIRS ANFINT 7o
RRET? ’

the. - first psychological

JND means
JND W18
( Fill in the blank )
(A IR @)
Skin is a senéOry receptor.

=3 & Ry AT AT |
( Write True or False )
(8w R fory )

Variable error is a natural process,

i @i «fp Freike afer i
( Write True or False )
(BF =7 fonar )

Color is a sensation.

38 9t IR |
( Write True or False )

(om ¢ =9% foryr )

Name any one theory of attention.
AR R AT 951 TG T o4 |

( Continued )

1]

Answer the following in short :

(3)

-Cochlea is a part of our ear. o

‘Cochlea EQCEW ~ﬂﬁ3 Aiall
ST ( ‘Write True or False )

. - (ow T orRew fordn )

J. P. Guilford set the first laboratory at

Leipzig.

@ Pl s s @ ﬁﬂf@’l@

*w1eng o IR | .

( Write True or False )
( ©% ¢ g forar )

2x5=10

eT® AR vE ey famn

(a)
(b)

(©

@

(e)

20A/145

Name any two primary colors.

R e wo1 enefie eq = Pt -
What is perception?

oops e 2

Define attention.
Wwﬁm | N
What is an mdependent vanable?
-Name any. two parts ofA the eye.: |

551 R e w51 SR 7w o
( Turn Over )
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(4) (5)
" 8. Write short notes on any four of the (b) Discﬁss color perception in detail. 10
following : . 5x4=20
TS AR R g SifRer o (B fora - | o7 R TR ST
(@) Function of the ear | ~ () What is auditory pérception? Discuss
Flog FRA any two theories of hearing. 4+3+3=10
- o R TR T B2 R R @I W O
(b) Control of variables | R T
| - f | - . | . )
Nusi | " (d) Discuss the properties of attention span.
¢ Nusion | How is attention relevant in our daily
b -" life? 5+5=10
(d) Weber’s law ! AR R g Iead ﬁag A F4 |
: ?
@ S i e TR APl
) Reaction time”® ~ © ;'5 () Discuss the different kinds of threshold
AfSferrs s | in detail with examples. 10
() Constant | Ty RRw serm Rea TP
ns
ant error -
&9 T .
() Write short notes on the following : 5x2=10
4. :_::wer any four of the»f;:;Wlﬁ:]g : 10x4=40 j i ot o <
o ﬁ R , . | (i) Fechner’s law
(@) What is Psychophysics? Discuss any one i (i) Steven’s power law
classical psychophysical method.  4+6=10 ;
TeReRem e R @ @B Tt ;, \
BTN AN 3T 1 - ' * %k
20A/145 (Continued) | 20A—500/145 3 (Sem-5) PSY 1



TR
f

3 (Sem-5) SAN 2

2019
SANSKRIT
( General )

Paper : 5.2

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer any two of the following questions :
10%2=20

TS fia R i o1 2p T ford

(a) Discuss the authorship of the thirteen plays
ascribed to Bhasa. '

T (oA A AGFET TR A |

(b) Prepare a note on Kalidasa as a dramatist on
the basis of his Abhijianasakuntalam.

SREgEy e AbeR e
IRWER es[e «fS R oS T4 |

20A/132 ( Turn Over )
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(2) ;

(C) Prepare a note on the Didactive Fables of
the Sanskrit literature.

AoFS AREA ST NEFUR @RS «fp
CBreT oS 1 |

(d)

Estimate Subandhu as a prose-writer in
Sanskrit literature.

AFe ARG QIR IR I/F B
FA i JEE F4

Answer the following as directed : 1x5= S

were frcares eI Bl ford -

(a) Malavikagnimitram is.a drama written by :
Bhavabhiiti. 5

( Correct the sentence )

‘ﬂmﬁasﬁﬁm{ SrpfeTy Tl T GX o |
( AICH! T IR By ) !

" (b) The Harsacarita of Banabhatta is a Katha /
Akhyayika / Mahakavya.

( Choose the right answer )

NTSF TR e T / ST/ TR |

( o T Al Sfered )

(c) Who is the writer of Hitopadesa?
“ReeIeIoer'Y IBF (1 2

( Continued ) |

(3)

(d) What term is used by the author of the
Sati Jayamati to mean the Chapters of the
book?

ﬁw@’ammﬁﬁww
R e ae= IR ?

(e) Who is the writer of Avantisundarikatha?
“SRBPTARAIFAI IF (T ?

3. Sketch the character of Ahom king Cukapha as
narrated in the Sati Jayamati Kavya.

SR EC Y W@ﬁsﬁrwaﬂ%fﬂmsﬁm
oA 0|

Or / 311

Present the literary beauty of Satf Jayamati Kavya
with apt illustrations.

TAPRE SIEPTE T8 e IR IR G
Bergrei 4 |

4. Translate any one of the following :
oot A R et @R SEm 3 ¢
(a) TERSAAE Tiifa: Rigd:
G R RAF, 3R |
A ; aaREe
qq 38 T HrooeRoi

20A/132

10
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(4)

(b) oy fARaewrd YaRFHATET
yag ¥ Wi edE: gET: |
IO T RprET waw
Wifig wEeET e g

S. Explain any one of the following :

o7 o R e @ if® 4

(a) from ey TmaRyge:
PITTIEET ST ST |
freafoay=r seg: go:
gfaages: iR@saTy i |

(b) wEERETT HaEeaTT

: GigHeaa: GIog WS |

ot

agEuiiEsRT A S i)

6. Fill in the blanks :
ﬁﬁ’ﬁ‘fﬁl:

IS ITETRYR |
CICOEREEIC]

AqfragRom T

20A/132

1x5=5

( Continued )

20A/132

(5)

7. Answer any one of the following questions :

oot i eppiee R G @b B ford

(a) Write a short note on the Ahom dynasty as
you find in the Sati Jayamati Kavya.
S8l wENel’ FIRIS (™I HRTCT WA K
8o 5y (ot ol o

(b) Present a picture of the natural beauty of the
hermitage of sage Vasistha as you find in the
Satf Jayamati Kavya.
1O SRS’ FRIS Il 4¢ IF® JfAa SR
ARPRST T 2R @ Sorgro 41 |

Elucidate the idea contained in any one of the
following :

O SR R (1A B SR-5TRPIR 1 :
(a) ¥ @AY ¥ e IR0 a3 WAL
(b) fon Tog oo T g o AR w1y

Quote from memory the verse from the Nitisataka
in which the poet states the characteristics of
three types of man, ‘Nica, Madhyama and
Uttama’. '

Ares’s FRey 6 I TP A, TN F
Tow—d3 R e TR RSy <= IRl TE
i

( Turn Over )



| 10.

11.

12.

20A/132

(6)

Discuss the Nitiataka as a source of ethical
teaching with apt examples from your text. 10

TRE TrzReecd s e B R (o <y
“Nferes’ sexwd e wcem=1 31 |
Or / 91

Prepare a note on the content of text portion of
the Nitisataka. .

NMoror’s AR FYIRE @[S 4fb O 2w
1
Fill in the blanks : 2
1t P o3 MAN 90 :
I GEHRTE: fagies: |
Treagfed & T wEf
Write short answers to the following : 2x3=6
oS figl 2pycaTes R TeT fid -

(a) Write the names of two Satakas of -
Bhartrhari other than Nitisataka.

Nerres’y A3 SERA T I IH 739
S I ford |

( Continued )

'20A—1000/132

(7))

(b) Write the significance of the title Satl
Jayamati.

19! wENel’ AN IR A F |

(c) What are the divisions of prose-romance?

M-I S0 F [ 2

* %k K
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2019

SOCIOLOGY
( General )

i’aper : 5.1 _
( Sociology in India—I )

Full Marks : 80
Time : 3 -houis
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer : 1x10=10
w Teachr Af thea
(@) The concept of ‘Homo. Hierarchicus’ was
given by
Homo  Hierarchicus’ ¥Rl (FLT
SRR 7 ‘
() G. S. Ghurye
f&. @5, I
(i) A. R. Desai
9. 9H. IR
" (iij) S. C. Dubey
LA LA <
(iv) L. Dumont
<. B’
20A/141 ( Turn Over )



(2)

(b) Who is the author of Caste in Modern

(c)

20A/141

India : And Other Essays?

Caste in Modern India : And Other
Essays TR A3 @14 I ?

() M. N. Srinivas
a9, G, HfR_RHT

(i) T. N. Madan
5. @=. 7=

(iii) Irawati Karve
RO FICS

(iv) A. R. Desai
9. 9. (7TI%

_— 1s a‘__,social institution.
2o &1 T S |
() Marriage

Rz
(ii) Family

IR_RFr&
(iij) Caste

(iv) All of the above :
@S TERe wHREH

( Continued )

(3)

(d) The concept of ‘westernization’ was given
by
“siffoRareeaer’ araercot fafet
() Dipankar Gupta
o 8Y
(i) T. N. Madan
5. . T

(iii) N. K. Bose
g, &, @AF

(iv) M. N. Srinivas

a%. . HfAIE

is an ascribgd category.
% &1 AP TR
(i) Caste

TS
.(ii) Role

o
(iii) Status
) PAhD . -
R RCEA

(e)

20A/141 ( Turn Over’)



(4)

(/i Who is the author of the book, Religion
in India?
Religion in India w193 R4 G193 @ 2
i) Andre Beteille

(i) T. N. Madan
S A

(i) R. K. Mukherjee

R &, &

" (iv) A. M. Shah
9. 9. TR

9 (g) Kshatriya is a .

BTG _____ |
() Varna
- 3f

(ii) Jati
wIfS

(iii) Both (i) and (ij)

() S (i) TR

(iv) None of the above
Go{F 1S T

(8)

(h) ____ kins are related by marriage.
e e, R R I s |
() Affinal '
Rar@n To
(i) Consanguineal
RS T

(iii) Fictive
IFEEF T

(iv) Mother’s brother
qE

() Pradhan Meantri Ujjwala Yojana is
concerned with

ﬁ“ﬁﬂ@wm_m@éﬁm

() LPG connection
&A1 T (5159 TR

(i) electricity supply

Rge amel

(iii) housing scheme
RN @S]

(iv) education for girls

@R A

n Over
20A/141 ( Turn )



(6)

() Right to work is included in the

TN PR ARFE % FR/RY 9
() Article 25
¢ SRS
(ii) Article 356
Oy TS
(i) 9th Schedule
T e
fiv) Directive Principles of State policy
I AR Rode s

2. Q;l;vfig]' the foll‘g%infgm q:uestions : 2x5=10
(a) Define lineage.
T SRSIR KT |
— ) (b Whatis the difference between caste and
class?

O HF ST RRemmT oo ey
TR ?

(c/ What do you understand by social
stratification? -

A BT e R & 2

(d) Mention two characteristics of tribal
communities in India. '
TReY SEISTEE o1 - Sl FER Recr
forar o ‘ )
(e) Define Varna and Jati.
3 o1 ST e fray |

20A/141 ( Continued )

(7)

3. Write short notes on any four of t;:ce4=2o
following : o
wors s R et oG o (BTt fordt

(a) Matrilocal residence
TFA IR

(b) Religion
uf

(c) Features of caste
weq e

(d) Sanskritization

(e) Assimilation and integration view of tribe
SRR Fieesd oF Rferer (Red

() Impact of modernization in Indian society

SR e IS AN 2o -

4. Answer any four of the following : 10x4=40
ware T R e oo Tey i

(@) Discuss the contributions of Calcutta
School in the development of Sociology in
India.

o TEeY I  IRwe  Ber®E

SRR ST 341 |

(b) Discuss the changing family structure in
‘modern India.

e sRow TR R ofam ROPE
8IS ol |

20A/141 . ( Turn Over )



(8)

(c) Write an essay on the orientalist
perspective on Indian society.

SRS TG SRS &FT AHANS TRy R
Q%= 51 TRl | |

(d) What is the sociological understandjng of
marriage? State its types and relevance
in contemporary period. |
R ST ARy R 32 S
IS W R Wi arifRee! Mie 4y 4

(e) Discuss G. S. Ghurye’s perspective of
caste in Indian society.
f&. 5. w9 qcR o[ SRS e
<51 ST foea | '

() Discuss the status of tribals in present
socio-political context in India.
SR AN WIF IAEAST BTG Ty
il R 4_T

(g) Social inequality results from socijg]
stratification. Do you agree?

MR SIS AT TP AR 1 wnepfy

PG 2

(h) Examine the idea of religion in Indian

context through a  functionalist
perspective. .

AW GREIRT ©RSWE [
SICHATGAT J4T |
* ok

20A—600/141 3 (Sem-5) SOC 1

3 (Sem-5) SOC 2

2019

: SOCIOLOGY
. ( General )

Paper : 5.2
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

wore AR Ao famcs Ses i

(a) Khasi is a patriarchal society.
R 93 Progidm e |
( Write True or False )
(% 7 oroE o)

() In which year was Muslim League
established? '

TP A5t I v TS (3fRA 2

(c) Who is the author of the book, Gender
and Politics in India?
Gender and Politics in India 38351 (¢
N ?

20A/142 ( Turn Over)



(d)

(e)

(9)

()

0

20A/142

(2)

Write a name of an Indian sociologig¢.

SO FregR% G&HS AN &l |

What is evolution?
g 2

Name one Peasant Movement in Assam
PR 5l IS SCHER A 74T |

The Act provided for separate
electoral system in colonial India,

o S SRedHe 9SSy
JATR 2ATS FRMEA |

( Fill in the blank )

(<090 31 = w1y )

Write the full form of SITA.
SITAF FJef SeiceT o |

- What was the theory that Herbert

Spencer took to consider how societies
changed and evolved over time?

TR Affgds s [Aged TS R
IR AT oooT (e ©F J29 Sifee 2
Who wrote the book, Indian Middle
Class?

Indian Middle Class W98 @& @

o1 e 2

( Continued )

(3)

2. Write short notes on the following : 2x5=10

wore AR 5 O forsi

(a) Social change
A RS

(b) Subalternism
SA-AReTam

(c) Technology and its impact
& I O 2o

{d) Social position of women
TGS AN A

(e) Swadeshi Movement in India
SIS T ST

3. Answer the following questions : S5x4=20
were frdl 2APTRA Taq fora -
&l (a) Briefly discuss the drawbacks of
= globalization.

CIFTPIPIT FASE TS TP IR 41 |

(b) Discuss the polﬁ'ics of reservation in
India.
SRET FATHR JGANS Fo[CF S 1 |

() What do you mean by colonial
modernization?
Teifaca T Snyfeer i [ e 2

(d) Write about ‘education and social change’.
P o TIE ARIST'T ecTe e |

20A/142 ( Turn Over )




3 (Sem-5) PSC 1

(4)
4. Answer any four of the following qiiestions : 2019
10x4=40
were Wil 2R R e BIReR Bes for POLITICAL SCIENCE
(@) What is Phulaguri Uprising? Discuss its ( General )
historical importance.
Paper : 5.1

Foad Rz & 7 TR Azt gy sieem

Il
_ ( Public Administration—I )
(b) Discuss the impact of Westernization in |
contemporary Indian culture and Full Marks : 80
society.
Time : 3 hours
LEEIEIESS CCTE I b B S e Y O
APBIORFIT AR R SAeeto= 347 | The figures in the margin indicate full marks

(c) Analyze various aspects of Gandhian for the questions

T Answer either in English or in Assamese
SHeS aMAReR [&ifed et sroicf Rowmer w1

@ Wtat bre the prodiples of Tndian 1. Answer the following as directeq : 1x10=10
Nationalism? Discuss in detail. oS IR et e for -
SR WeeRM Afenyz & 2 e (@) Who is regarded as the father of public
o 54T 1 administration?

@I -2PPTIR T e 1% =1l A 2

(e} Discuss Dalit Movement in India.
(h) Who first used the term ‘scientific

SRSY YA A -SCHER TFS AT

4 | management’?
‘e Ao’ ol AW @I IR
L Kk - Ffaf2e ?
20A—600/142 ‘ 3 (Sem-5) SOC 2 20A/137 ( Turn Over )




(2)

{c) Who wrote the book, Administrative

Behaviour?
‘MR SR’ (Administrative Behaviour)
S (e 541 IREFA 2

(d) Mention one difference between
public administration and private
administration.
5 2P SE (IO PP BT N4
g w911

(e) “Organization is the formal structure

of authority through which work
sub-divisions are arranged, defined and
coordinated for the define of objectives.”
Who made this statement?

“oReN C0ZCR FETT APIE S, IR W
Rofe oa® e Sreme  sifRcafres
CERI, @ i A% RS F J 1 FIRA

I CFfRET 2

Federal Council is known as the Chief

Executive of Switzerland.
( Write true or False )

TeaBE R TIES I Frfeqfert
Ro1Cet &= T | (Tm @ SuT o)

20A/137

( Coniinuedg;f ;

!
)

H
i

(3)

“The public corporation is clothed with
the power of government but possessed
the flexibility and initiative of a private
enterprise.” Who said this?

‘o RRPTR SRRl WAORT SRR
o g (XAR TS BOUIR TCI CEA
W RifRerers e 1”7 @I fRE ?

(9)

Write an example of line agency.

PR o5 1 TrRe o

(i) Mention one difference between formal
organization and informal organization.

PR TR SIF SARPIAE TR T
o1 oi<ey Sra 9|

() Mention one characteristic of the
principle of hierarchy.

i@y T o1 cafiBy o 3411
2. Answer the following questions : 2x5=10
oo PR Ted o
(a) Write the meaning of ‘politics-
administration dichotomy’.
FENS-epre f&-Rere’s =g @ |
20A/137 ( Turm Over )



(b)

(c)

SN

(e)

(4)

Mention two characteristics of
bureaucratic theory of organization.

oG SICIOlge ©gd 7ol BT Sray
01

Mention two characteristics of public
corporation.

HAIR! s qo1 CIMET Teas 40

“Write two political functions of the Chief
Executive.

T4 PRI 751 Aretfes Frf fersi |

Mention two factors or elements that
help in the development of values.

TACIY TS T Fq1 G0 PR A2 SATT
T 40

3. Write short notes on any four of the

following :
oq R (leAl BifRbR eow 5y Gl A9
fa) POSDCORB
(b) New public administration
YA (P2
(c) Decentralization
RS

20A/137

( Continued )

. Answer the following questions :

Oeq 2R Tad fordl :

(a) Write the meaning of public

5x4=20

20A/137

(S)

Bases of organization

oo fofe
fe) Qualities of Chief Executive

T SRR BFHR

Importance of public administration

CIF -2 BFYQ

10x4=40

administration. Discuss briefly the
nature of public administration.

CIE-2PE oY o1 | ET-epe agte
BT ST 47 |
Or / #1Zd1

Discuss briefly the stages of evolution of
public administration as a separate
discipline of study.

A @ R REm B Ee-epre
erm fafea R e 4 |

( Turn Over )




()

()

20A/137

(6)

Write critically the scientific
management theory of organization as
forwarded by F. W. Taylor.

9F. OFC. GTeHI TREGRI WG (IR
“IfROTEA] ©GCHT SAAGAEAFOIA o1 |

Or / R

Discuss briefly about some measures to
prevent corruption in administration.

spPTS (Tl YA @1 IR AR Ay
AR ToIcE LT SO 1

What is span of control? Write briefly
about the determinants of span of

control.

faga Regfe R 2 aEs Repfr fsiwemms
R vy feran |

Or / ¥

What are the advantages and
disadvantages of hierarchy? Discuss in

brief.

SRR Ra W TRIER & B s
AT T4 |

( Continued )

20A—20500/137

(7))

(d) What are the differences between line

agency and staff agency? Write briefly.
IR B S =W M e NPz R B2
Y foran |

Or / 331

What is department? Discuss the types
of department.

et & 7 Re1R 2FRER SCEmw 47 1

* % %k
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2019

POLITICAL SCIENCE
( General )

~ Paper : 5.2
( Select Constitutions—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
ot SRR were R Tes for :
(a) Who said, “The British Constitution is
the mother of all Constitutions”?

“Riftr 3RYA STFca R TP’ I @I
ofRE 2

'20A/138 ( Turn Over )




()

()

(d)

(e)

(2)

Spoil system prevails in the USA.
( Write True or False )

SR JEAGO o [{FR IIE IR |
( 311 A =pTey forar )

Mention a Convention relating to
Monarch in the UK.

FESS [OOSR ONS Give 9ol oA Tay
M1

Judicial review is an important feature
of the US judicial system.

( Write True or False )

TfRe W SR SNEI TRE "R
BT eyl (M |

(TS 1 =PTeT i )

Is there bi-party system in the political

system of the UK?

BLAST AT IS R-FaT IET SO 2

20A/138

( Continued )

|
!

(9

(h)

()

G

20A/138

(3)

The President of the USA has Veto
Power.

( Write True or False )
SRS ISABI IABAST (SCo1 Tl AR |
( 3T®1 & =7 fordn )

Mention an argument in favour of the
House of Lords.

65 TSR AoCH BT IS SI9RTERT |

The number of Members of the Senate

is . ( Fill in the blank)
BT SR |

( AR 3R o[ T4 )

Mention a difference between the
Council of Ministers and the Cabinet in
the UK.

IS T} AR T IWTOR TeR Bl 14
TEy 90

There is no serious ideological
differences between the political parties
in the USA.
( Write True or False )
ERT JEET  AWAST  TEPHR SO
@R Rer Tomre «ide T |
( 3% A wPrey fordt )

( Tum Over )



(4) (5)

2. Answer the following : 2x5=10 3. Answer any four of the following : 5x4=20
Tere fAICRs Teq for wo R @1 vifReR Tes foran
(a) Write two differences between the King (a) Discuss briefly about the ‘Bill of Rights’.
and the Crown in the UK. R Res™ R ST A6 41 |

AT o A RPN A fj:b“l i (b) Discuss briefly about the judicial

forar system in the UK.
TS TRT TG =00 TS ARG I |
(b) Mention two features of the US Y
Federalism. (c) What is ‘Senatorial courtesy’ ? Discuss
briefly.
AR TSI [ FeIew AR Bmy
T b3 G’ & 2 ST SCAD 74 |
(d Write a note on  ‘collective
(c) Write two sources of the British responsibility’ of the British Cabinet.
Constitution. fifbr Wpem HRE WIEE'T ¢Ee Ol
RS 1R 151 Bt foran | Cort forat 1

(e} Discuss about the principle of ‘checks
and balances’ in the USA.

RS [EAES Ol WF SRA A
R wcaw +41 |

(d) Mention two provisions for maintaining
independence of the US Judiciary.

ACARF TEAET TRAIERR RO
IIR AT O 9 Sy 30|
() Discuss briefly about the role of

. . ion i iti itution.
(e) Write two differences between the Convention in the British Constit

House of Lords and the Senate. ity RyFe g9 PReR Ry oxF
=65 ] o fBe6T o go1 <1 fora o | SCEOT 9 1

20A/138 ( Continued’) | 20A/138 ( Turn Over )




4. Answer any four of the following :

(6)

oo RARRT R e sifkeR Teq fori -

(a)

(b)

(c)

(d)

(e)

20A/138

Discuss the powers, functions and
position of the Prime Minister of
the UK.

WG AN TAO], IECEA AE o
HICEASAT F4

Analyze the powers and role of the
Senate in the USA.

R gEeage focite wel WIF PRen
Resma w111

Discuss the salient features of the
British Cabinet.

Rty ¥8hrer ¢hfere CIPBPTTR SITCeoT 641 |

Discuss the procedure for the
amendment of the Constitution of
the USA.

SIRT TEAEI FHRAW TN a7 [wen
HICABAT 11 1

What is ‘Tule of law’? Discuss its
importance in Great Britain.

iz wpieE &2 b {oTe TR gvy
ST 31|

10x4=40

( Continued ) 5

1)

(9)

(v

20A—40500/138

(7))

Discuss the role of the Supreme Court
of the USA. Why is it described as the
Third Chamber of the Legislature?

R ST Twow  GEERR PR
el 791 | W R Ryemes gon s
I Rz ?

Discuss the salient features of the
British Constitution.

Rt R (e @MABPEE SIcETsT 34 |
Define Constitution. Discuss the
meaning and importance of
Constitution.

ARy i T | AR oy IF FFER
Ry e F 41

% %k

3 (Sem-5) PSC 2



3 (Sem-5) EDN 1

2019

EDUCATION
( General )

Paper : 5.1
( Emerging Issues and Education )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wers fran e fRete® Tee fi -
(a) Write the full form of DPEP.
DPEP 3 5/ St foran |

() The National Literacy Mission was
started in India in the year .

( Fill in the blank )
S SRT I w57 kS

2R | (A o o7 )

20A/133 ( Turn Over )




(c)

(d

(e)

(g)

)

20A/133

(2)

What is the female literacy rate of
Assam according to the Census of

2011?
303y R RPRE WPk weE SR
Ao T A 2

Mention one existing prejudice against
women.

RaR Recs 371 o1 aefere IR T
91

In which year was Universal Declaration
of Human Rights proclaimed?

@A 5 TFd SRFE TERE A-LEGAE IRl
AP T C2fRE 7

Mention one need of national
integration in India.

SRe® HOW AT 91 TSl SE
F1

In which year was GATT agreement
signed?

(¥ 5@ b (GATT) 5 Tl ¢2feet 2

Mention one objective of life skill
education.

Qi PR 961 Stwen Beay 41 |

{ Continu

[T

e s e
. ST e e L

(3)

Write the full form of SUPW.

SUPW-3 5= Seieht frdr |

() In which year Gandhiji forwarded his
‘Basic Education Scheme’
QT 5T MAEH (red Ffam Freer <o’
1o ?
2. Answer the following questions : 2x5=10
o firn enpryRd s e
(a) Write two objectives of Sarva Shiksha

(b)

(c)

20A/133

Abhiyan.
PP SRR 1 e o |

Mention two problems of women

education of Assam.

ST N3 PP 4O ST SCEY 99 |

Mention any two indicators of

globalization.

Ry R e 961 5P S 40 |

{ Turn Over )




3.

20A/133

(4)

(d) Write two objectives of peace education.

i PR 551 ST P |

(e) Explain the concept of Human Rights.
TR SfRFRT LRACET I 0

Write notes on any four from the following :
S5x4=20

wo R I BIRBE ¢omS Gl o
(a) National Adult Education Programme
B ez e SiHEH

(b) Role of NCERT in women empowerment

e SRAITe NCERT-T S

(¢) Importance of human rights in national
development

HoR RFPre I ST 89

(d) Need of life skill education
G PR acrEaTe

( Continued )

20A/133

(5)

(e) Problems of vocationalization

FERTIR TEIRE

() Methods of peace education

NS P orafcar

Discuss the problems of universalization of
primary education and suggest remedial
measures. ’ 5+5=10
AT Pl TREATIIR PR S0 F0
T ST SR SRR |

Or / =41

Discuss the different governmental efforts to
achieve quality of life and social justice of
women. _ 10
RER TR gmm o ANRE TH AT I
5 2% 1 RSH AToRIIR A 40 1

What is Human Rights Education? Why is it
necessary? Discuss the role of educational
institutions in promoting Human Rights.

2+3+5=10
T SRR e W 2 3 R aoedw e TR
SRFI AoTS Frerpre SR s 31 |

({ Turn Over )



(6)

Or / 9«7

What is national integration? Discuss the
role of education in promoting national
integration. 2+8=10

o kS 7 WO YT PSR i
A |

6. What is globalization? Explain the impact of
globalization on Indian education system.
3+7=10

Ry B2 sRow e IREe YT 2R AFa
T 401
Or / %11

What are the different life skills? Explain the
means of imparting life skill education. 5+5=10

s Qo & &2 0@ Frer Seremz
I T

7. What is vocationalization? Discuss about
vocationalization of Secondary Education in

India. 3+7=10
Y3 5 2 ST TR Frel IFeqRTem R
G ¥4 |

20A/133 ( Continued )

20A—25*/133

(7)

Or / &{1

What is education for peace? Write about the
different programmes of peace education.

3+7=10

NR IR P wwm /Ko R Fer fRfew
IR Raca forn

%* % %

3 (Sem-5) EDN 1



3 (Sem-5) EDN 2

2019

EDUCATION
( General )

Paper : 5.2
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following/Fill in the blanks/Write
True or False : 1x10=10

oo IR Tee fi /@ iR o9 wWIi/eT A
Ry for

(a) “Measurement is the assignment of
numerals to objects or events according
to rules.” Who gave this definition?

“oen R a1 @e RdRe fm wpiR
SR i 41 FRCE <R o =
o TG P SNRGIERA ?

20A/134 ( Turn Over )



(b)

(c)

(d)

(e)

20A/134

(2)

“Educational achievement tests are
designed to measure
understanding and the skills in specific
subject or group of subjects.” Who gave
this definition?

“@ea 9o Rem e @1 o9l Rage
PR @M, Q1Y o el AfRTON WA aEe
T SO (I ARAl SO I
=7 1’ 4% SKER(CH] (P A7 R 2

characteristic  of

knowledge,

Write any one
evaluation.

T R e o1 CafiEs o |

Find out the mean from the following
scores :

oq PP o[ STe e
20, 30, 35, 40, 25, 30, 20

Physical measurement is objective.
( True or False )
(SIS “Ifsrer 7Y |
(Hm 7 s )
Range is one of the measures of central
tendency.
( True or False )
PR % (Y 20N 4Ry e |
(8= 7 Ewg )

( Continued )

(g)

()

(i)

0

20A/134

(3)

Reliability is always situation specific.
( True or False )
fagazamset s ARRTS Seers |
(wm ST )

The first step in constructing a test is
to the test.

( Fill in the blank )
o] SR YT T (IR WerwH

el
EEEERESD)

Physical measurement is more accurate
than measurement.

( Fill in the blank )
(SR AP ARerets wfie e |
( = 57 =7 M)

Achievement tests are broadly classified
as standardized and test.

( Fill in the blank )
el TSFPIES IO AfeTmige =%
_ wyors fEere el 9 = |

( <ral 3 /R T )

{ Turn Over )



(4)

2. Answer the following briefly : 2x5=10

w7 fRAIRd 5Y0e T fam :

(@) Write any two characteristics of
measurement.
“iRareR R e o1 63 o

(b) Write two  differences  between
measurement and evaluation.
SIRAe SIF JERE & 701 N s o

(c) Mention two disadvantages of objective-
type test.
TS wOER o1 SR T 40 |

(d) What is error in measurement?
“ffRarem @ &2

(e) Write the formula to calculate median
from grouped data.
RS IR o1 341 R 0 Sfach o

3. Answer any four of the following : 5x4=20

©o1e AR R e o[ Teq g

(@) Write briefly five functions of
educational measurement.
O ~iRaer it TR 50 foran |

(b) Write briefly on validity of a test.
1 S {35! o B e |

20A/134 ( Continued )

(c)

(d)

(e)

(b)

20A/134

(5)

Write a note on essay-type teacher-
made test.

fres-fffe T wOrFR Rea 9o o/
i

Discuss about formative and summative
evaluation. .

ST WF WEE FUEE Rew S
91

Write briefly on cumulative record card.
Sl Y I TE SIS o o

Write the advantages of measures of
central tendency.

R el ARTR JRIPRE fordn |

What is evaluation? Discuss the basic
principles of evaluation. 4+6=10

Tore R FIEE G SRR Sieams
[

Or / J<[1
What are the different steps of test
construction? Write five differences

between general test and standardized
test. 5+5=10

wory e Rfsa somg B & smma
S WE ARNNTS TOHR TGS T 00!
oefa AT |

( Tumm Over )



7
(6 ) (7)
S. (a) Whatis of:jective-type test? Discuss the . - Or / 953
uses of educational achievement test in (b) Find out the mean by short method
educational evaluation. 5+5=10 " from the following table : 10
e WS R Preve TR cvge ' TR OIRE *[1 5 TR oS Sfeea :
Cifee Ao SR TerAfTer wcEsa cI f
I (e wZr) (IRITeT)
Or / ST 90-94 2
85-89 5
(b)) What is new trend in evaluation? . 80-84 8
Discuss about grading system. 10 75-79 7
e wgd q@ 7 of¥] oS e 205:23 193
SCATST F47 | 60-64 9
6. (a) What is frequency polygon? Draw a ' 55‘22 :
polygon from the following table : 2+8=10 ‘ s 3
IR LGS ¥ 2 Soig SIfEFRET [T I8 40-44 2
BT O I - N =66
. : ; 7. (@) What is median? Find out the median
1 ing data : 3+7=10
(% w51 IR from the following
) (Frssarer) T 5 9 o ©UR *& Nl fy 0
55-59 1 cI f
50-54 1 (1T STT) ERSIER))
4549 3 55-59 1
40-44 4 50-54 1
35-39 6 45-49 3
30-34 7 42_“;‘; g
25-29 12 20_34 7
20-24 6 ~ 25-29 12
15-19 8 20-24 6
10-14 2 15-19 g
V50 10-14 2
20A/134 ( Continued) 20A/134 ( Tum Over )




(8)

Or /. 5311

(b) Calculate the standard deviation from
the following table :

S Sferer o[ s RpfS Sferea

cr f

(1 w53) (I3R[©N)
90-94 1
85-89 3
80-84 6
75-79 7
70-74 8
65-69 10
60-64 6
55-59 4
50-54 2
45-49 2
4044 1

N =50

* & K

10
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2019

ELECTIVE NEPALI
Paper : 5.1

Full Marks : 80

Time : 3 hours
The figures in the margin indicate full ‘marks
: for the questions '

AT S TR P

1. zﬁmﬂmm@@m ~ 1x10=10
() mm’mwm@m
(@) ‘ofEr T AR WOE .
(M) A wviad S@H T Rerad T Hege|
(9) JTAEEH T FA FUF WD
(F) WS THEE N TR % QA
(@) TEE R YW wew FME W
e

(a)ﬁmmaﬁmﬁwmm”’
ey

() ﬁwmmaﬁﬁ? f""";,'

(H)'immazaﬁzﬁma.”ashs
A ‘

(@) i da R e A T
20A/129 ( Tum Over )



(2

2. AW IW AEIE, : ' 2x5=10 -

(%) ‘wew q@ WR Fwers JFCH A7
(@) 3§ & % At '

() ww =iy Rl o T F-% §7
(@) ‘wER-H o F A

(3) ¥aE A F B
3. @me%@aﬁa: 5x4=20
(%) R Mg fdoms aefigsn wam aifq
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The figures in the margin indicate full marks
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'HINDI
( Elective )

Paper : 5.2
( Hindi Bhasha Evam Devanagari Lipi )

-Full Marks : 80
. )'-q{bne_: 3 hours

The figures in the margin indicate full marks
for the questions
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3 (Sem-5) PHL 1

2019

PHILOSOPHY
( General )

Paper : 5.1

Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
Rotrrm were e Teg fo -

(a) What is the yardstick of truth according to
the Pragmatic theory of truth?

Mol BoTel ToIW. PR AGOR Ao
&2

(b) Choose the correct alternative :

W% [RFw! A e :

The supporters of the coherence theory are
idealist / realist.

SRS STefFTeat ez ORAM / IWTIM |

20A/143 { Turn Over )



(c)

(d)

(e)

()

(g)

20A/143

(2)

Name the theory of truth which admits the
degrees of truth.

oroR T FIR I oSl HTRA TSIMBH
T o o

Choose the correct alternative :

% Remcor i e :

Spinoza’s theory of substance is known as
polytheism / pantheism / monotheism.

P TG IR [/ EAR/® /
TR e T AW |

How many categories of knowledge are
there according to Aristotle?

GRBTR Wo W R A AFOR
IR

Mention any one characteristic of Time.

I R @I <o ¢y w901

“‘Space and Time are empirically real but
transcendentally ideal.”” Who is associated
with this statement?

“orr S I SRwenEe R I R
SORESI SRNE A SIS 1 @3 RO
75T FeS RIS @ ?

{ Continued )

(i)

G)

20A/143

(3)

(h) Which theory of meaning is associated with

elimination of metaphysics?

SRR T e @ce! SRene og it
(2 SR ?

Is determinism a doctrine of universal
causation?

Fafam e TRTORM /e 2

Which of the following statements is
correct?

A (P Of g 2

() Existentialists think that life can be
known completely by reason.

SRRRE o @ I T K
sl oo I

(i) Existentialists think that life cannot be
known completely by reason.

SRERPeE S @ Al ' R
F=opf SR R |

(iit) Existentialism supports naturalism.

AT AFAME AL I |

{ Turn Over )




2. Briefly answer the following questions :

(4)

SO PRI v e fora

(a)

(b)

(c)

(d)

(e)

Briefly explain any one defect or criticism of
correspondence theory of truth.

oFol ST ST I SRR SGoR R
CRICAT <01 ¢T3 SIS SILF A 47 |
What is truth, according to Locke?
Y WO ey ¥ 2

What do you mean by category of
knowledge?

BT 2Ref 1 491 e B @2

What is conceptual Space?
YRS o WA 2

What do you mean by fatalism?

g et [ @2

3. Answer any four of the following questions :

5x4=20

o ePRd R Il BIfeR B fia

(a)

20A/143

Write a short note on the nature and
criterion of truth.

ToR Tl 1 AR A e 1 A@HR R
B! 59 (B ot 1 |

( Continued )

2x5=10

(b)

(c)

(d)

(e)

M0

20A/143

(S)

Write a short note on ‘Russellian
correspondence theory of truth’ or ‘logical
theory of correspondence’.

Storel REEe I APRM A SHRTORM
9 SmereR R Raca bt vy et fordn |

‘Briefly explain the rationalist view on Space

and time.

oM SF JTe A IRIM TS0 ST I
il

Briefly explain the psychological argument
in favour of determinism.

R Foies o FenIEfRe e Reca o
I SCGA |

Write a short note on Mill’s view of
causality.
RIS o) To1 Recy «ft o G o |

How does A. J. Ayer draw the distinction
between strong and weak verification?

Q. (F. A (TR 9@ SF 7351 oo

ES AIYF] (IR ?

( Turn Over )




(6)

4. Explain and examine the coherence theory of
truth. 10

SO FRASIM SGCOT M R Rt 471 |
A Or /931

Explain and examine the pragmatic theory of
truth.

ool Sl g1 T R <R 79 |

S. Are Space and Time subjective or objective?
Discuss. 10

G SIF e TS (H I8N ? A0 41 |
Or / %<1

Explain Descartes’ view of substance.

CSII63 T ST/ TS 01 41 |

6. What is indeterminism? Give four arguments
against indeterminism or freedom of will.  2+8=10

wfgfam a1 SoERm (7 wRafam @ TmE
FRFeR Recw oiver IR soReo |

Or / 1

Write an essay on self-determinism. 10

Y- faaeRm A 3-FageRre Ry a3f <o B

20A/143 ( Continued )

(7)

7. Discuss briefly any five general characteristics of
¢ existentialism. 2x5=10

SR SR CIFBFR R e «iwor R o
S S9RTEHT |

Or / 531

Discuss the salient features of logical positivism. 10 |

O HOFFAIE ol CIREPTR ST 1 |

* ¥k
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3 (Sem-5) PHL 2
2019

PHILOSOPHY
( General )

Paper : 5.2
( Indian Philosophy—II )

Full Marks : 80

Time: 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following / Choose the correct
answer : 1x10=10

e IR ¥ B ) ww Sescn il
Eforear :

(a) What are the stages of perception
recognized by Nyaya Philosophy?

T R AR NS orer oRErRh R 0

20A/144 ( Turn Over )



(2) (3)

(b) How many Cittabhtmis are in Yoga (h) Who is the author of Vedantasitra?

philosophy? ‘@R’ o e 2
csl fere ol PegR vz ? D enw : : -
(i) Samkhya philosophy is monistic /
(c) Name the Astika Dar$ana propounded by - dualistic / pluralistic.
Rsi Kapida. Y T ESAM [/ CaAedm / TR |
4R e oAbt T S Ao T 2
() What is the main text of Vaisesika
(d) Who was the founder of Samkhya system?
hilosophy?
d Py oS R 2idH SRR A R 2
M i AR I SR ? ‘
(e) Whatis the other name of Vedanta School 2. Write short answers : 27%5=10
of Philosophy? 5y %eq ford -
S e ) 1 AN 1 2 (a) What is the meaning of Yoga according to
Patafijali?

() What s the meaning of the term ‘Veda’?

| ,
| segfer wgo ‘@I w72
‘@ oR 9y & 2 ;

(b) What are the five physical elements
recognized by Vai$esika philosophy?

ReIRT A TEY A AXTS IFICI0! ?

(g) In Samkhya philosophy, is Purusa
conscious or consciousness?

2 TS F FACESA (7 Gl ?

20A/144 ( Continued ) 20A/144 ( Turn Over)




(4)

(c) Which of the Substances are considered
as material by Vai$esika philosophy?

@ele wim @RS e B-73 BE
TrEy IR ?

(d) Define inference according to Nyaya
philosophy.

T o SRR A SRS 71 1

(e) Why is Sankara’s philosophy called
‘Advaita’?

TR e R a3 PRI =W ?

3. Answer the following questions (any four) :
5x4=20

ware i eppryed s i (R cmeen wifki) -

(a) Explain briefly the Satkaryavada of
Sarmkhya philosophy.
A R AIRAN NSIOT TP N
¥}qI

(b) How Nyaya philosophy explained
‘extraordinary perception’?
T TR @NE AT g [
s ?

20A/144 { Continued )

(5)

(c) Write a short note on proofs for the
existence of Prakrti.

o3y W oM TuFe @bl B GBI
forat

(d) How many Vrttis (modifications) are
involved with the Citta and what are they?

foeq wisre o1 IS SMeR AR =r AT
ciaeeenl & R 2

(e) Explain the differences between Nyaya
inference and inference in Western Logic.

TS 4] AIYSFTIR I = |
Answer the following questions : 10x4=40
T PPTIRA T ford
4. Explain Sarhkhya theory of Evolution.
SR PR Radas ©g IR I |
20A/144 ( Turn Over )




(6)

Or / 3311

Explain briefly the Nyaya theory of Perception.
TR P ©GCol S I 3 |

5. Explain Vaiéesika theory of Substance.

CIRTT 97 SGeo! I F9
Or/ 9<1

What is non-existence? Explain the different
classification of non-existence.

R R PR S s ASICEACRSISI RIS SN

6. Explain Sankara’s concepts of Brahman and

World.
XTIOR(E T S Gorod YRAPTR W 3 |

Or / 91
Is World unreal according to Sanikara? Explain

it in terms of Maya.

eI WS Sroe FRICH ? TAR oS Zars
0130 |

20A/144 ~ (Continued )

(7)

7. Write an essay on Sankara’s concept of Maya.
g9 TR AR S9RS G Jo11 Forsi |

Or / a1

Discuss Ramanuja’s criticism of Sankara’s

concept of Maya.

e TAR YRAN SRS IJEETES STl

S9ICCHET |

* %k
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3 (Sem-5) ECO 1
2019

ECONOMICS
( General )

Paper : 5.1
( Public Finance )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

Co eRPTRY Ted e

(a) Mention one source of public revenue.
BRI TeRT b1 TR T Sy |0

(b) Write one objective of public
expenditure. S
anaciie Rt ALl

(c) What is government budget?
SN IS 32

(d) State whether ‘sale tax’is a direct tax or
indirect tax.
‘R 39 &OTF @ AT 9, fordn |
(e} What does regressive taxation mean?
FNRPEF 39 37
20A/135 ~ { Turn Over )



(g}

)

Y

0

2. Answer the following questions :

o fr epPTyed Ted o

(@
(b)

(c

d

(e)

20A/135

(2)

Write one source of internal public debt.
HISFEAN SIPIA HF 951 Tt fora

What is meant by impact of taxation?
F93 9 I B om0 °
Write one objective of public debt.
5IFIR IR o1 e o o

What is productive public expenditure?
Seemgere 51 I 2

Mention one canon of tax.

99 o1 NS Tz T4 1
2x5=10

What is capital budget?

o e R 2

Write two merits of indirect tax.

T FI oI 89 7 '

Name the various sources of public
debt.

PR 991 Rfew Besrg T forar o

Define unproductive public debt. Give
one example.

SRATATEE I I g ot | TR 9y
Barzae fa |

What is surplus budget?

R 3es 2

( Continued )

(3)

3. Answer any four from the following

TR R e wifder Bes o -

(a) Distinguish between direct tax and
indirect tax.
oOPF I WE AT IW q&e AL Ay
;|1

(b) Discuss the characteristics of a good tax
system. ' ‘
TI 74 JEM CIMBPIE e 34941 |

(c) Write a note on the burden of external
public debt.
AR IR YR QI ToE o1 R o o

(d) Explain the limitations of fiscal policy.
TN AR NARGEPRR I 41|

(e} Write the effect of taxation on
production of a country.
CPR AT oS 39 FoRe R forn

() Show the difference between absolute
and relative taxable capacity.
T WIF AT I 2 TG T8 A1
faram 1 '

4. Answer any four from the following : 10x4=40

ot f 1T SiReR e ot - '

(a) Distinguish between public finance and
private finance.
i e ue Ifee Rey g v Ay
|

20A/135 ( Turn Over )
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(b)

()

(d

(e)

(9)

)

20A—7000/135

(4)

Discuss the reasons for the growth of

public expenditure in developing

economy.
TaRle (TS 5e9IAl AW Toold Ifa KR
JRPTR SCAGA F1 |

Explain the ‘ability to pay’ principle of
taxation.

9 o T OGB! T 0

Describe the role of budget as an
instrument of economic policy.
el M o Rewcer s gl 36w
7

Write the characteristics of public
goods. Distinguish - between public
goods and private goods.

el G (AAEPTR B I a9

IResre T T L Rl 00
Discuss the different methods of
redemption of public debt.
e 91 Remy IR Rfew orferz
HICEADAT 94T 1
Explain the effects of public expenditure
on production and distribution.
TR WP RSIT GG T IR AR
[P A1
Describe the objectives of fiscal policy in
a developing economy. ,
SN (TS SR ANMOI TP 360
71

* k Kk

3 (Sem-5) ECO 1

3 (Sem-5) ECO 2

2019

ECONOMICS
( General )

Paper : 5.2

( Introduction to Growth and
Development Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wore faIRa Fotrpii b o
(@) State any one cause of
underdevelopment.
SePaoR R @I 9Bt FR4 e o
(b) Write True or False :

20A/136

o (7 ST ford

By economic development, we mean
increase in gross domestic product per
capita income over time.

wffor Tmw (xR AR wEe Rove
R o TN SR S ST |

( Turn Over )




{c)

(@

(e)

20A/136

(2)

“Development is a chain of
disequilibria....” Who said this?

TR (R PR I ... I SR
A et 2

Fill in the blank by choosing correct
one : :

mcH! A% TRmR N8 9 o[ F0 :

is associated with the theory of

balanced growth.
(H. W. Singer/ Rosenstein Rodan/
Prof. Hirschman)

a@ﬁ—ﬂqﬁmmmwﬁf‘ﬁmm

(d2g. S, /3" TEET T/
SR )

Name the founder of the theory of
cumulative causation.

S8 g5 OGO GBI N o |
Choose the correct one :

@W?ﬁ%ﬁ@:

Prof. Ragnar Nurkse’s name is
associated with the concept of balanced
growth/unbalanced growth.

S (ISR AT AN e e/ Seke
% YRNGR OIS &fve |

( Continued )

()

(h)

0)

20A/136

(3)

Mention any one problem of measuring
development in developing countries.

TRgNE ¢S S (ER R Ien @61 e
I 9|

Which of the following sectors will be
more suitable for the use of capital

‘intensive technique?

TE-FRS e IRRT WA SR/ @
3% IS T 292
(i) Oil refinery

591 CNEAISA

(i) Cooperative farming

AR MR orafe
(iii) Handicraft

ECiREd

Mention any one limitation of large-
scale industry in the context of a
developing economy.

THEE (PR WY (Ree qR AR
TomsR R @ @61 SiRae! Soay 41 |

Write any one significance of agriculture
in the development process of an
economy.

ﬂmwm—ﬁa@aﬁmm
SreoR( forat |

{ Turn Qver )



2.

20A/136

Answer the following questions :

(4)

o faT e T o :

(a)

(b)

(d

@

(e)

State any two sources of economic
growth.

SfATSF Tt R e 151 BT Srmy <=1 |

Write any two features of economic
development.

wtafes g R e o1 CafAEs foram o

Mention any two significances of
measuring economic development.

e Tmw R R @ W ee
TE T :

Give any two points of criticism against
the concept of balanced growth.

wghre e Reta R QG 981 smcemsan
foram

Point out any two problems of
agriculture in developing economy.

e wdRifee IR R e o1 swom
gl fit 1

’

2x5=10

{ Continued )

-

3. Answer any four of the following :

(5)

o] R @1l oifibR e foran -

(a)

(b)

()

(@)

(e)

20A/136

Explain the meaning of economic
growth.

SRS T S T

Elaborate the concept of human
development index.

TR TgA I 4RO IR forn o

Briefly explain the concept of ‘social
overhead capital’.

M -IEF JHLFT GRNCHT S 0T 4 4

Write a short note on ‘choice of
technique’.

‘e o' ey @1 5y Gt o o

Argue the case for small-scale sector in
the context of economic development of
a developing economy.

T (PR SRR TR PR R
Tome 76T AT IS SRR |

How did Myrdal explain regional and

international inequalities?

e M ST 9F SBERy el
e FfRfRe 2

( Turn Over )
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4. Answer any four of the following : 10x4=40
weg R ren wifRoR T for -

(a) Explain the limitations of gross
domestic product and per capita income
as indicators of economic development.

AT Trgw e wifden fRone P T
T S TR SR R T I

() “Economic growth is quanﬁtaﬁve, on
the other hand economic development is
qualitative.” Explain.

o T AR, SRS AT
T @S 7 T 4

(0 Describe the views of Prof. Lewis on
unlimited supply of labour.
ey N @OFE SRS TP ARk
TJOINS 01 41 |

(d) Distinguish between balanced and
unbalanced growth.
RS SR SpES SRE Ted =1 T

(e) “Labour-intensive technique is more
suitable than the capital-intensive
technique for a developing economy.”
Do you support it? Give reasons for your
answer. .
e FYRRT A TA-TARS (TS
1-ARe G SRE SNgE I FIRR I
T 7 ONR TaT9 A I Tl |

20A/136 ( Continued )

(9)
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Explain why small-scale industries are
more preferable for a developing
country.

T (PR AR FU-TER Soarl (79 el
SRR, I |

Describe the comparative role of
agriculture and industry in economic
development of a country.

ot PR AT e IR e Sou
&R G PN It o o
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